



NOTES ON AN OPEN PROBLEM OF F. QI AND Y. CHEN AND J. KIMBALL

QUỐC ANH NGÔ AND PHAM HUY TUNG

DEPARTMENT OF MATHEMATICS, MECHANICS AND INFORMATICS,
COLLEGE OF SCIENCE, VIỆT NAM NATIONAL UNIVERSITY,
HÀ NỘI, VIỆT NAM
bookworm_vn@yahoo.com

DEPARTMENT OF MATHEMATICS AND STATISTICS,
THE UNIVERSITY OF MELBOURNE,
VICTORIA, AUSTRALIA.
Tung.Pham@ms.unimelb.edu.au

Received 22 June, 2006; accepted 02 June, 2007

Communicated by S.S. Dragomir

ABSTRACT. In this paper, an integral inequality is studied. An answer to an open problem proposed by Feng Qi and Yin Chen and John Kimball is given.

Key words and phrases: Integral inequality.

2000 *Mathematics Subject Classification.* 26D15.

1. INTRODUCTION

In [6], Qi studied an interesting integral inequality and proved the following result

Theorem 1.1 (Proposition 1.1, [6]). *Let $f(x)$ be continuous on $[a, b]$, differentiable on (a, b) and $f(a) = 0$. If $f'(x) \geq 1$ for $x \in (a, b)$, then*

$$(1.1) \quad \int_a^b f^3(x) dx \geq \left(\int_a^b f(x) dx \right)^2.$$

If $0 \leq f'(x) \leq 1$, then the inequality (1.1) reverses.

Qi extended this result to a more general case [6], and obtained the following inequality (1.2).

Theorem 1.2 (Proposition 1.3, [6]). *Let n be a positive integer. Suppose $f(x)$ has continuous derivative of the n -th order on the interval $[a, b]$ such that $f^{(i)}(a) \geq 0$, where $0 \leq i \leq n - 1$,*

Many thanks to Professor Feng Qi for his comments. The authors also want to give their deep gratitude to the anonymous referee for his/her valuable comments and suggestions on the proof of Theorem 2.2 which made the article more readable. Special thanks goes to the research assistant for the quick responsibility.

and $f^{(n)}(x) \geq n!$, then

$$(1.2) \quad \int_a^b f^{n+2}(x) dx \geq \left(\int_a^b f(x) dx \right)^{n+1}.$$

Qi then proposed an open problem (Theorem 1.6, [6]): *Under what condition is the inequality (1.2) still true if n is replaced by any positive real number r ?*

Some new results on this subject can be found in [1], [2], [3] and [4]. In [2], Chen and Kimball proposed a theorem

Theorem 1.3 (Theorem 5, [2]). *Suppose $f(x)$ has derivative of the n -th order on the interval $[a, b]$ such that $f^{(i)}(a) = 0$ for $i = 0, 1, 2, \dots, n - 1$. If $f^{(n)}(x) \geq \frac{n!}{(n+1)^{(n-1)}}$ and $f^{(n)}(x)$ is increasing, then the inequality (1.2) holds. If $0 \leq f^{(n)}(x) \leq \frac{n!}{(n+1)^{(n-1)}}$ and $f^{(n)}(x)$ is decreasing, then the inequality (1.2) reverses.*

After proving the theorem, Chen and Kimball proposed a conjecture. The conjecture is that the above monotony assumption of Theorem 1.3 could be dropped. In this paper, we will prove that this conjecture holds. We use the same technique which was introduced by Qi in [6].

2. MAIN RESULTS

At the beginning of this section, we consider the case $n = 2$ as the first step in the process.

Lemma 2.1. *Suppose $f(x)$ has continuous a derivative of the 2-nd order on the interval $[a, b]$ such that $f^{(i)}(a) = 0$, where $i = 0, 1$, and $f^{(2)}(x) \geq \frac{2}{3}$, then*

$$(2.1) \quad \int_a^b f^4(x) dx \geq \left(\int_a^b f(x) dx \right)^3.$$

Proof. It follows from $f^{(2)}(x) \geq \frac{2}{3} > 0$ that f' is (strictly) increasing in $[a, b]$. Since $f'(a) = 0$ then $f'(x) > f'(a) = 0$ for every $a < x \leq b$. Therefore f is also increasing in $[a, b]$. Let

$$H(x) = \int_a^x f^4(x) dx - \left(\int_a^x f(x) dx \right)^3, \quad x \in [a, b].$$

Direct calculation produces

$$H'(x) = \left(f^3(x) - 3 \left(\int_a^x f(x) dx \right)^2 \right) f(x) =: h_1(x) f(x),$$

which yields

$$h_1'(x) = 3 \left(f(x) f'(x) - 2 \int_a^x f(x) dx \right) f(x) =: 3h_2(x) f(x).$$

Then

$$h_2'(x) = (f'(x))^2 + f(x) f''(x) - 2f(x)$$

and

$$\begin{aligned} h_2'(x) &= (f'(x))^2 + f(x) f''(x) - 2f(x) \\ &\geq (f'(x))^2 + \left(\frac{2}{3} - 2 \right) f(x) =: h_3(x). \end{aligned}$$

Thus

$$\begin{aligned} h'_3(x) &= 2f'(x)f''(x) - \frac{4}{3}f'(x) \\ &\geq 2f'(x)\left(f''(x) - \frac{2}{3}\right) \\ &\geq 0. \end{aligned}$$

Therefore $h_3(x)$, $h_2(x)$ and $h_1(x)$ are increasing and then $H(x)$ is also increasing. Hence $H(b) \geq H(a) = 0$ which completes this proof. \square

Now we state our main result.

Theorem 2.2. *Let n be a positive integer. Suppose $f(x)$ has a continuous derivative of the n -th order on the interval $[a, b]$ such that $f^{(i)}(a) = 0$, where $0 \leq i \leq n - 1$, and $f^{(n)}(x) \geq \frac{n!}{(n+1)^{(n-1)}}$, then*

$$(2.2) \quad \int_a^b f^{n+2}(x) dx \geq \left(\int_a^b f(x) dx\right)^{n+1}.$$

Proof of Theorem 2.2. Letting

$$g(x) = \frac{(n+1)^{n-1}}{n!} f(x),$$

one can easily see that $g^{(n)}(x) \geq 1$ for all x .

The problem now is to show that the inequality below is true

$$\int_a^b g^{n+2}(x) dx \geq \frac{(n+1)^{n-1}}{n!} \left(\int_a^b g(x) dx\right)^{n+1}.$$

Let

$$G(x) = \int_a^x g^{n+2}(t) dt - \frac{(n+1)^{n-1}}{n!} \left(\int_a^x g(t) dt\right)^{n+1}.$$

One can find that

$$\begin{aligned} G'(x) &= g(x) \left(g^{n+1}(x) - \frac{(n+1)^n}{n!} \left(\int_a^x g(t) dt\right)^n\right) \\ &= g(x) g_1(x). \end{aligned}$$

We will prove $g_1(x) \geq 0$ by induction. According to Lemma 2.1, the case $n = 2$ is proved. Denote

$$g_2(x) = g^{\frac{n+1}{n}}(x) - \frac{(n+1)}{\sqrt[n]{n!}} \int_a^x g(t) dt.$$

It is easy to see that the function $h(x) := g'(x)$ satisfies the following conditions

- a) $h^{(k)}(a) = 0$ for all $k \leq n - 2$, and
- b) $h^{(n-1)}(x) \geq 1$.

Therefore, by induction

$$h^n(x) \geq \frac{n^{n-1}}{(n-1)!} \left(\int_a^x h(t) dt\right)^{n-1}$$

or equivalently

$$g'(x) \geq \sqrt[n]{\frac{n^{n-1}}{(n-1)!}} g^{\frac{n-1}{n}}(x).$$

Hence,

$$\frac{n+1}{n} g^{\frac{1}{n}}(x) g'(x) \geq \frac{n+1}{n} \sqrt[n]{\frac{n^{n-1}}{(n-1)!}} g(x).$$

Thus,

$$g^{\frac{n+1}{n}}(x) \geq \frac{n+1}{n} \sqrt[n]{\frac{n^{n-1}}{(n-1)!}} \int_a^x g(x) dx.$$

Then, the conclusion $g_2(x) \geq 0$ follows from the fact that

$$\frac{n+1}{n} \sqrt[n]{\frac{n^{n-1}}{(n-1)!}} = \frac{n+1}{\sqrt[n]{n!}},$$

which yields $g_1(x) \geq 0$. Then $G(x) \geq 0$. Our proof is completed. \square

REFERENCES

- [1] L. BOUGOFFA, Notes on Qi type integral inequalities, *J. Inequal. Pure and Appl. Math.*, **4**(4) (2003), Art. 77. [ONLINE: <http://jipam.vu.edu.au/article.php?sid=318>].
- [2] Y. CHEN AND J. KIMBALL, Notes on an open problem of Feng Qi, *J. Inequal. Pure and Appl. Math.*, **7**(1) (2006), Art. 4. [ONLINE: <http://jipam.vu.edu.au/article.php?sid=621>].
- [3] S. MAZOUZI AND F. QI, On an open problem regarding an integral inequality, *J. Inequal. Pure and Appl. Math.*, **4**(2) (2003), Art. 31. [ONLINE: <http://jipam.vu.edu.au/article.php?sid=269>].
- [4] T.K. POGÁNY, On an open problem of F. Qi, *J. Inequal. Pure and Appl. Math.*, **3**(4) (2002), Art. 54. [ONLINE: <http://jipam.vu.edu.au/article.php?sid=206>].
- [5] J. PEČARIĆ AND T. PEJKOVIĆ, Note on Feng Qi's integral inequality, *J. Inequal. Pure and Appl. Math.*, **5**(3) (2004), Art. 51. [ONLINE: <http://jipam.vu.edu.au/article.php?sid=418>].
- [6] F. QI, Several integral inequalities, *J. Inequal. Pure and Appl. Math.*, **1**(2) (2000), Art. 19. [ONLINE: <http://jipam.vu.edu.au/article.php?sid=113>].